Solve each triangle. Round your answers to the nearest tenth.

\ . mzA=10° ¢ =26, a=25 MnAB =45°, a=28,h=27
uméc=145°,b=7,c=33 q 'mAB=73°,a=7,b=5
S‘ mesB=117°,a=16,b =38 6 ‘m'AB=84°,a=18,b=9
7‘ msB =105°b=23,a=14 % ’mAC =13°, mszA=22°,c=9
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Solve each triangle. Round your answers to the nearest tenth.

13) 14)
A 25 cm B
A 97°
16 cm
27 1t
C
c 221 B
15) 16)
A C
10.4N
30in B 21.9¢m A
88°
C 17in B
17) 13)
B A
7 mi g1° 12 mi
29 mi

A c

c 27 mi B
19) InAABC,a=14cm, b=9cm, c=6cm 20) In AXYZ, mzX =138° y=15in, z=25in
21) InAQRP,q=121in, p=28in, r=18in 22) In AQRP, p=28km, g=17km, r=15km
23) InADEF,e=16yd, d=12vyd, f=17 yd 24) In ARPQ, p=18 mi, m£ZR=17°, g=28 mi
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